







Exc 2x c 3 x 4

2 2 3k 8k 12

2 2 5 12

Exz x 3 2x c x 2

2n Gaeta 3 Xtc

2x 5k 3 xx 2

2
3 5 2 3x

4 2 10x 6

2 3 si 13 6

Exercise

1 Kia x c x 3

x'tax se a x 3

x2t3x 4 xis

sc t 3 2 4

3 2 1 9 12

t Got 5k 12

Revision -Expanding Brackets



2 2 3 2x c x 5

45 6 2 3 x 5

4 2 8 3 x 5

4 31 8 4 3
20 2 40 15

4
3 12 2 37 15

I 6
Ex 22 5 6 i 6

2 31
x 2 x 3 z 3

Exz x doc 3 I 3

Ge 1 x D l 3W

Ex3 K2 Ix 10 l lo
l 1 to

x 2 x 5
2 5 V
Z 5

X tx 12 0
Ese 4 I 12

x 3 Csc 4 o i 2

2 6
Either x 3 0 or a 14 0 z 6

so 3 x 4 3 a
3 4

Revision-Factorising



Exercise Factorise

D x
Z

t Ild t 30

x 5 xtc

2 x 10x t 16
x 2 x 8

3 I Ix 8

x c c x 8

d of t5x 14

x 2 Cx 17

Factorising With Multiple

Ext 2
2

Tx t 3
2 3
6

2K txt 6 1 3

I 6 x 2 1 3 2x l

2x c act 3



Ex2 3
2

se 10
3 x lo

30 3
2

Tx Goa 10
5 6

3 5 2 3 5

3 5 x 2

Ex 4
2 8 5

4 5
20 4 2 2x 10x 5

c Z lo
z OV I 2 2 1 5 2x l

2x 1 2x 15

Exercise Factorise

Dza a
25 9 7

2 7 2 2 1 2K t t 7

2 Cacti 7 xtc
x c 2 7

2 3
2 10x 8

3 8 24
z iz

32cL 2x 1 12 8

x 3K 2 t4 3 2

3x 2 xtc



3 5 2 7K 6
5 6 30 5 2 3x lose 6
3

5 3 2 5 3

5 set 3 x 2

4 4 21 19 5

4 5 4 2 x 1 20 x 5
Zo

i 20 x 4 1 5 ex 1

ex c sets

Factorise Difference of Two Squares

at b a b at 52

2 25 I 52 x 5 x 5

y2 81 y 9 y 9 y a

4 2 49 2 5 72 2 2 2 7

Exercise
c x 100 y 102 Get x icy
2 9

2 16 3 5 42 3 413 4

3 25 2 36 5 5 62 5 6 5 6


